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Describe the transformation from the parent function f(7) = COS/ to g(t) =cos(l - 'ff)_-
Noriz vt o4

What values of  should you use to generate the “key” points of the cosine graph? Show those values in your chart.
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Use different colors and label eagh graph.
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Describe the transformation from the parent graph f (1) = sin/ to g(t) = sin(f + %) .
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Ashorizontal translation of a trig. €unction is called a _(eb&s_e‘ | 3} . [; ] 58

Examples: g(r)=sin(t+g):> C 20, \e‘H- C

HO=cost-0)= ¢ 50, cighk ¢

A vertical translation is of the form:

VL) = Sint ad o W(E) = cost xd




Identify the amplitude, the phase shift and the vertical translation of each function from its parent function.

1. k!r!=%in(t—%—)+3 2 p(r)=@cos [+4)—] 3. v(f)=-:l;-t_g_n(t+{!1-)
|Q=L{ 13‘5.;-_({'@ \3_:‘-.-2. m \ NO a.ﬁ-.?\
Ve SV | \down) | | \eR¥ >4 -

4. Sketch the graph for at least one period for g(1) = -,_l,'-sin (t + -ﬁ—) :
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Combination of phase shift and horizontal compression/stret
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Identify the phase shift and the period of g(1)=sin [%(r - 53—)} :
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Sketch the graph. - A YT
Hints: V (\0:‘% \‘O

* Identify the key points of the parent graph due to the period change.

* Determine how those key points change due to the phase shift.

q; * _Organize your information in a table. Qecz Y O | T |2« (3w (Y
e Be careful how you set up the units on your axes. - ) Y |75 [ \S
pes v P35 |95 \15 0 |2F
e Label all key values. \3 Vol S O \ O 1 \ O
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Identify the amplitude, phase shift, and period of A(f) = 4 cos (2 + z).
Hint: first rewrite in gru (i@{f(g form. |

Wt -:'%3‘ CGSEL(t-\-%'):\

Sketch the graph.
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“In general, given a function with g # Q and b > Q , that is of the form:

. o f()=asin(bt+c)+d
P e f(t)=acos(bt+c)+d

B amplitude = -\ ol period= 2T vertical shift = o phase shift = — <
K o
ot xS\ v
o f(M)=atan(bt+c)+d = o.'l'ame X v
amplitude = NYone period = T vertical shift = Ci phase shift= - _.E_-
- b

[Hint: Always Layor (bt +¢) first]

ma T .
ek a e LR e LY R AR A B e N e e e e N T N R T T B TN e BB ERimAE At agim s mm e man e mu il

Sketch the graph for one complete period f(t)=2tan '( Xl — -‘}_{-)
Clearly label key points and equations of asymptotes. * ?er: . =®
™

§0)=2an[m(t 1) -

State the rule of a cosine function with amplitude 2, State the rule for the graph in the form f (I) =da E_L_I_] (b!‘ +c] +d.
period 77, phase shift —%, and vertical shift -3. A Pec=T4
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Finding the Sine Function of Best Fit

Use your T1 to find the sine function of best fit for the data in the table below. The data below represents the average
temperatures, each month, in Denver, Colorado.

™

VR | Jan () | Feb @) | Mar(3) | Apr (@) | May(5) | sune 6) July (7) | Aug(8) | Sept(9) | Oct(10) | Nov (11) | Dec (12)
Avg. T ' = * _ . 0
Monthly | 29.7 °F | 33.4 °F | 39.0°F | 482°F | 572°F | 66.9°F | 73.5°F | 71.4°F | 623°F | S1.4°F | 39.0°F | 31.0 °F
Temp, y

Enter the data:

Stat 1:Edit Enter. Enter Month, x, into L1. Enter Average Monthly Temperature, y, into L2.

Find the equation that best fits the data:

STAT —» CALC { C:SinReg ENTER ENTER

Plot the points and show a sketch of

the best fit curve.
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Sine Reg. Eq.: y= L\ - \S]‘Q(”S ix-z,‘_'f 2*5}2




